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Date:

Time:

Venue:

9th Council Meeting Minutes

December 5, 2011 (Monday)

7:30 p.m.

Present: Officers:

Derek Zen — President (DZ)
Thomas Ng — Vice-President (TN)
Pearlie Chan — Secretary (PC)
Christopher Leung — Treasurer (CL)

Council members:

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLN, HK

CC Wong (CC)

Chan Yiu (CY)

Charlie Lee (XL)

John Tsang (JT)

KF Mak (KF)

Leo Cheung (LC)

Tony Lau (TL)

WK Lai (WK)

Item Content When | Action
1 |Adopt minutes of last meeting.
2 |Follow up matters raised in last meeting (by minutes order):

a) LC has provided the latest version of M&A to TL for posting on CL
HKCBA website. CL to check with accountant if we need to
change the subscribers’ name on the M&A (currently it is
Anthony Ching and Nancy Neumann)

b) XL will continue to explore how to share Bridge related news XL
with University.

c¢) DZ has spoken to Pauline Ling and she will explore the
possibility of publishing bridge news on local papers.

d) PC confirmed with APBF Secretariat that Hong Kong will be

entitled to a berth for 2012 World Junior Championship. Youth
Team Committee will select the representatives to participate.
Subsidy for air tickets will be provided to participants (subject to

the cheapest price quote).
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4i

4ii

4iii
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e) APBF Secretariat also confirmed that Youth Championship will
be held separately from 2013 APBF Championships and they will
find other NBO to organize. They also confirmed that there is no
limit to the no. of senior teams each NBO can send and it is on the
discretion of the host location and we can raise in the next APBF
delegates’ meeting if it is not too late. Council has decided to
limit the no. of entries for senior teams to a max. of 2 teams per
NBO.

f) PC checked that Council shall meet not less than 10 times each

year with not more than 2 months between consecutive meetings.

Financial Affairs:

The latest bank balance is HKD757,000.

Internal Affairs:

Intercity: PC to follow up with Anthony Ching to arrange the 1* Intercity
Organizing Committee Meeting ASAP. Dates and venue for the 2012

Intercity to be discussed in the meeting.

2nd CMSG Result:
Open: 18/43, Ladies 8/34, Youth: 3/17. Ladies Team has forfeited to

qualify and has already written a letter to inform the organizer.

Dress Code for APBF/World Championships: Uniform is required for all
representatives going forward. KF to work with Amy to arrange jackets
with HKCBA logo. There is no need for representatives to bear the cost of]

the jacket.

External Affairs

CL to check the hotel price and availability for 2013 APBF which will be
held in June 2013(tentatively).

A.0.B.

a) The coming AGM will be held on February 28, 2012 (Tuesday) at
6:30pm. Invitational Team will be held after the AGM per scheduled.

b) Ashley Lung informed DZ that someone would like to sponsor youth

players especially secondary school students.

c) KF has presented the 2011-2012 Youth Team budget for Council’s

approval. All items have been approved except that Council has proposed

PC

KF

CL
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and agreed to sponsor air tickets fee for 2012 World Junior Championship

instead of a cash subsidy of HKD15,000.

The 10th council meeting will be held on January 5, 2012 (Thursday).

Date:

Time:

Venue:

10th Council Meeting Minutes

January 5, 2012 (Thursday)

7:30 p.m.

Present: Officers:

Derek Zen — President (DZ)
Thomas Ng — Vice-President (TN)
Pearlie Chan — Secretary (PC)
Christopher Leung — Treasurer (CL)

Council members:
CC Wong (CC)
John Tsang (JT)
Leo Cheung (LC)
Tony Lau (TL)
WK Lai (WK)

Apologizes:

Council members:
Chan Yiu (CY)
Charlie Lee (XL)
KF Mak (KF)

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLLN, HK

Item

Content

When

Action

Adopt minutes of last meeting.

Follow up matters raised in last meeting (by minutes order):
g) LC has provided the latest version of M&A to TL for posting on
HKCBA website. CL to check with accountant if we need to

change the subscribers’ name on the M&A (currently it is

Anthony Ching and Nancy Neumann)

CL
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h) XL will continue to explore how to share Bridge related news
with University.

i) The 1% Intercity Organizing Committee meeting has been held.
The tentative period for 2012 Intercity will be from August 1 to 5.
CL will check hotel availability and price, the venue will likely be
either Regal Hong Kong or Regal Kowloon Hotel.

j)  KF to work with Amy to arrange jackets with HKCBA logo for
HK representatives so as to comply with dress code requirement
for APBF/World Championships.

k) CL to check and provide update on the hotel price and availability
for 2013 APBE.

Financial Affairs:

The latest bank balance is around HKD770,000.

Internal Affairs:

AGM: Confirmed to be held on Feb 28, 2012. DZ has already sent out the
Chairman’s report for council members to review. AGM notice and

materials to be posted and sent out at least 3 weeks before the AGM date.

Intercity: Similar schedule except that a speedball game will be organized
on the 1* night. Will use the scoring software offered by Xiong Zhao. CC
and Kelvin Yim to contact Xiong Zhao and discuss the details. HKCBA

Prizes will be presented during the Opening Ceremony.

External Affairs

World Junior: PC to reply WBF that we will participate in World Junior

and to reserve hotel rooms (3 double rooms and 1 single room)

A.0.B.

a) WMSG Trial: Council approved to reschedule from Feb to May.

b) Visitor: If there is any visitor interested to play bridge ask them to
contact KF copy PC. KF to arrange the stand by player roaster.

c) Apply sponsorship from government: LC has submitted a proposal to
the government to apply for HKD90O0K subsidy for Intercity. Reminder to
keep all receipts for intercity expenses just in case they need to be

presented for claiming the subsidy later on.

The 11th council meeting will be held on February 13, 2012 (Monday).

XL

KF

CL

PC

KF




Date :

Time:

Venue:

11th Council Meeting Minutes

February 13, 2012 (Monday)

7:30 p.m.

Present: Officers:
Derek Zen — President (DZ)
Thomas Ng — Vice-President (TN)
Pearlie Chan — Secretary (PC)

Christopher Leung — Treasurer (CL)

Council members:
CC Wong (CC)
Chan Yiu (CY)
Charlie Lee (XL)
KF Mak (KF)
Leo Cheung (LC)
Tony Lau (TL)
WK Lai (WK)

Apologizes:

Council members:
John Tsang (JT)

Unit 1103, 11/F, East Ocean Centre, 98 Granville Road, TST, KLN, HK

Item

Content

When

Action

Adopt minutes of last meeting.

Follow up matters raised in last meeting (by minutes order):

1) LC has provided the latest version of M&A to TL for posting on
HKCBA website. CL to check with accountant if we need to

change the subscribers’ name on the M&A (currently it is

Anthony Ching and Nancy Neumann)

m) XL will continue to explore how to share Bridge related news

with University.

n) KF to work with Amy to arrange jackets with HKCBA logo for

HK representatives so as to comply with dress code requirement

for APBF/World Championships.

0) CL to check and provide update on the hotel price and availability
for 2013 APBF: CL advised that we have already reserved both

CL

XL

KF
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Regal Kowloon and Regal Hong Kong Hotel for the purpose but
for the hotel price it needs to be confirmed at a later stage before
intercity.

p) KF advised that XL will be the person to arrange the roster of

stand by players for visitor.

Financial Affairs:

The latest bank balance is around HKD764,000.

Internal Affairs:

AGM: Notice has been issued. Prize Presentation will happen after AGM.
DZ will be calling special voting members to attend the AGM. PC to
coordinate people to call members to join. WK to circulate the ordinary
and special voting member list for council members to vote and determine
who will be promoted to special voting member and who on the special
voting member list will be demoted to ordinary member. DZ advised that
we need 8 council members’ consent to promote someone, and we need
10 council members to have consent for any demotion. PC to work with

WK on printing materials for AGM.

Lai see for Mariners’ Club: Council agreed to give HK$2300. TN will
give to Mariners’ Club on the date of AGM.

55" FOS: Since there isn’t much subsidy & support from SF&OC/LCSD
but rather HKCBA needs to comply with strict subvention
guidelines/agreement, Council has decided not to organize the Open Pairs

event for the 55" FOS. PC to revert to SF&OC

External Affairs

2" WMSG: Trial will be held in May. WBF informed that there are still
two options regarding the City in which it is to be held. Final decision will
be made by Feb 15. The 2 options are: 1) Cardiff, Wales, from 7/8" to 20"
Aug. 2) Strasbourg, France, from 9" to 23" Aug. Once confirmed the
details TL to post on web. HKCBA will only subsidize registration fee
and jacket for representatives. Trial will be organized in case there is U28

event.

Intercity: Price for organizing at Regal Hong Kong Hotel is HK$405,000
for venue, room charge per day is HK$1050 + 10% (excl breakfast) and
HK$1350 + 10% (incl breakfast). Haven’t received the price quote for

Regal Kowloon Hotel, will advise later. CC to check with Song Zhao the

Dz, PC,
WK

TN

PC

TL

CC
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no. of computers/laptops needed for intercity and advise DZ.

A.O.B.

There is no other business.

The 1st council meeting for the new term will be held on March 19, 2012
(Monday).




o kR
Read Cards

(1) 12 J] 5 HELRZ ke THLMEM R, M, Leo $RI A N:
During the dinner with various Hong Kong bridge experts on 5 December 2011, Leo
discussed the following bidding:

w N E S
1 Pass 1v
Pass 3 Pass 3v

] 3w JENYIG? fhFR Ay AN IENY, AR & 3037 (49 15 - 17 ). 1% Christopher i,
AR R LR, 5248, #OARZEB . JARWFEE, AR, npZEdr
R P

He asked whether 3v was a forcing bid. He considered it was not forcing. His
shape was 3037 (about 15—-17 HCP) . Finally, Christopher said that you should not
jump if you were void in Partner’s suit even if you had more HCPS. |agreed. When
there is a mismatch, the bidding should be more conservative.

Pk MEH AR 2, F

| took the opportunity to seek advice on the following board in the Open League held on
3 December 2011. You are East holding:

aKQ8743
vAJ1032
‘_
&75
Nil /S

w N E S
1w

2NT Dbl 3(?)

10



LR R R fEe Fl o o, R/DNDES R —2&, RMAFREE, Jbi@Eid, FE
PE B R RS, BA0A 3 RSCRE, (R ERZHERAEN 3 &, (JUEIE
B, MRS RS, Hrh DL KF Mak RARRIERE, BRIE « fle s, A
MKRe FlefEf., RIS E: BARBMEDIBIE A, miea A 6
AR L. P AHEE, SEEEN. WRMREZRIEE, N e o 36 #WERE
B/ 39k, FINESA 2 05y, B Pass A1 Rdbl, FliifRnl ] Pass #7sANHdF14%
K, Bl &« Al & J£2-2, 8k1-1800-0 =fl5E, Rdol £RARMEAZER, B2
-1, 2-0, 1-0 =Fili5E. H BT LUSCO I, IR, HA R A & .

North’s double indicates that he can penalise either a &« or ¢ contract. We had some
disagreement. As North has bid, East has a free bid. Someone consider that East
should bid (it is just a choice and it is not possible to cater for showing support or not).
Most would bid 3« if having at least 3 cards in support. The view led by KF Mak was:
unless you have a choice between « and ¢, a pass indicates equal length in &« and .
| re-considered the bidding carefully on returning home. | consider that the success or
failure in bridge is determined by the number of winning tricks and winning tricks are
created by matching. Therefore, matching is most important. If you agree with this
point, then the bid of 3« or 3¢ means you have at least 3 cards in support. There are 2
possible bids left, i.e., Pass or Rdbl. For example, you can use Pass to show
mismatch and equal length, i.e., the 3 situations of « and ¢ being2-2, 1-10r0-0,
while Rdbl shows non-fit and unequal length, i.e. the 3 situationsof2-1, 2-0, 1-0.
For one thing, you can set your mind at ease that your bid will not be the last bid.

HOR, ATREZ M N, HE R R, R IE R .

Of course, there are many bids which you need to discuss with your Partner
beforehand. The board is as follows::

#11 a9
E/NII v75

¢+ AKQ6543

«AQ3
a6 aKQ8743
v- vAJ1032
¢J109872 ¢ -
«KJ9862 %75

aAJ1052

vKQ9864

‘-

%104

11



PHERAT 5 B, I 2NT A, SERRI, DU b R RO, s MM
LA BNT 504 v o (EHUOFETH,

Though West has only 5 HCP, no one would object to his bid of 2NT. If West does not
bid, he will not have a chance to bid again. North and West can have 3NT or 4v,
provided that the Declarer plays in the right sequence.

QPR L E TR, U K

Based on the above discussion the bidding should be:

W N E S
19
2NT Dbl Rdbl Pass
3 ?

o anfrsE, AT, 3« iy, EZHEHEA 3T .
How would North decide? Even with Double Dummy, 34 doubled would only go down
3.

(2) P FFoRa, ATSCRFIORE, RERER R38Ry,

| reiterate again that if you can help your partner one trick, you should raise.

AV, FF You are West holding:

a9
v8743

¢+ Q10852
«A94

njf%  The Bidding:

W N E S
1v 14 26

Pass 2NT 3 3NT
?

PEny4+BEE? - What should West bid?

P e CFF, MEZFORHAR, (REBTUHEFML 28, «A Xi&ize ), f 2 fER
(a) 4 &

(b) MY Dbl FHiFFfEe EAKE (—EAEHS , WiEa, FEY 24 K, HERRE. D
AEFEENY 40 J2JE Pass 3NT; WifR—H Pass , [FIfEHAeeR7Es o FHEK
FL o
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West has support in & and should show his support  [you can help Partner at least
with 2 tricks: «A and a ruff (one or two ruff) of 4] . There are 2 possible ways to show
support:

(a)bid4s, or

( b)) bid Dbl to tell Partner you have a high card in &« (it would not be . If it was s,
West would have shown his support after South had bid 2a.)
Let Partner decide whether to bid 44 or pass 3NT. If you passed all along, Partner
can only assume that you have no high cards in both & and .

# aKQJ4
N/NII vAQJ105
¢97
%83
a9 aA107652
v87483 v?2
¢+ Q10852 *J
~A94 «KJ1072
483
vK96
¢ AK643
«Q65

PR IEE 3 v o RPN 3a. WEERTIALELE SNT, R

For this board, North and South have 3v while East and West have 3&. If you let
North and South take away with 3NT, the loss with be great.

PHNY DBL 8% 4 C, fndadh, AEDEARAIEE, WA, wag R EA CGBE) 2RI
WBIFHGRIIER CEANZRGRERD REEAL 5

(3)

#28 41053

W/NS vQJ8
¢+ Q10985
%53

aKQ2

v32

¢ AK732

%J82

13



firZ&dk, mR# You are North and the bidding is:

W N E S
1e Pass 1v 14
INT Pass 2y Pass

Pass Pass

FIfEED s A Fiad, JEXKIA 6, 49, 3 T-the 2, FfEHe ATZAER v K,
FIPEEIHEE 3 1Ha , i e 6, TEWI T v , RHw J B, KEHED], &G
dRe Q7EMRT L, R 8 sRI

Partner first leads the & A and the followed with the & 4. Declarer follows with the 46
and 49. For the 3" trick, Declarer plays the ¥2 from Dummy, and Declarer’s vK is
won by Partner’s v A. Partner returns the 3" round of &, Declarer discards the « 6
and plays another v from Dummy. You win with v J. Everyone can see that you
have still got the vQ in your hand. The last 8 cards are:

#28 & -

W/NS v Q
¢+ Q10985
%53

o -

'_

¢ AK732

%J82

BRI %5, R e KA, H2E 4 9Re , REAZIEC T, SEXT 29R6 . fE
PR 4 SR ARG, SEXIER 5 ke , 1 B2 5Re (5 31 a #hs, Fone AEH 3 k),
XN & 2T e Afe Q, IERAEFREN AT, (FAfEnfTeK «Q, —JF
MEVR & 5 R, & e Q i, ) Jrmith Aerthss 4 5ke , HAMAIEREGY Q,
eI LLIE] o, FRIEAS SRS S 1D o

Now you play the 5. Partner wins with the %K and plays the 4™ a. Should you count
the cards? Declarer has 2 as. Based on Partners’ 4™ a, Declarer should have 5 vs,
1or2 es (Declarer’s discarding of a % on the 3" a indicates that he would not 3 ¢s) .
Declarer should have « A and « Q based on Partner’s play of cards. (If Partner has
both «K and « Q, he would have won with the «Q when you played the 5 and he
would not play the 4" & as he knows you still have ¥ Q. He can choose to return a
¢, and you will never go wrong) .

RMEKESa A, « K, vA, vJ, BEAE v Q%6 HE? AftL«Q, AN
REste, HATIRELS , FTUAWIRAE 6 3, —ERFHAv 10, JLrefEEns, 4l
Hv Qif¥iz, TME:

14



You have already won with aA &K, vAandv J, and you can win with the vQ, Where
is the 6™ trick? It cannot be the #Q, a ¢, nor a &. If you can have the 6™ trick, it must
be Partner having the ¥10. North is able to think of this and he immediately ruffs with
vQ. The 4 hands are as follows:

#1 41053
N/NII vQJ8

¢+ Q10985

%53
aKQ2 A96
v32 vK9654
¢ AK732 ¢ 6
%*J82 «AQ976

aAJ8BT74

vA107

¢ J4

« K104

TR, JbFhe |, BN, ERMIEEL 5 IMP.
In reality, North discarded a ¢ and the contract of 2¢ was made. This card is worth 5
IMP.

(4)
PR, Sy pit

You are East. Let us listen to bidding first:

W N E S
Pass 14
Pass 2% Pass 24
Pass 3a Pass 4e
Pass 44 | All Pass

a AK7

v72

¢+10765

«AK97
a8
vA95
+ Q9832

+ 10832

15



FfEES e Q, WTF«A, HEXE 282, 5, vJ, Fe Q.

B3 He J BT Ko 5 48U Fithe 7, /R Ev A, REHRH .

55 5 BURHVIRGR? B A, SeBOER MM

R LA 8 9k (5 aka , 35k ) Wi 4 5kw 28 2 RIMBL, JERZIYHI AR, WiqT 6 9k
&, IMHEEEENCE, fEmfeh RA 770, «2%F 0, GARKe KMZeA, ¢K, o
T, MBI 4 o, FTLMBI e 26 A, oK, BEMEZeA, ¢ J WIH 35Re, fRibe
A 180 (FFERAT 1aRe),  « A, Wt 25ke, 35ka, AT, 55
—Eh, R 3 9Rke, A 2K st At T i, AHBIEAE,

R w10, He8, IR, 2SI, SEE UM

Partner first leads the « Q and Dummy win with the %A. For the 2™ trick, Declarer
plays the v2, followed by 5, vJand West's Q. For the 3" trick, West plays the %J
to Dummy’s «K. The #7 is played from Dummy for the 4™ trick and you win with the
vA. Everyone follows. What will you play for the 5" trick? Using the old method,
count the Declarer’s cards first:

Declarer should have 8 cards in his majors (5 asand 3 vs) . If he has 4 vs, he would
have bid 2v in his 2" round of bidding. If he has 6 as, you cannot possibly defeat the
contract. If he has 7 HCPs in his majors, then he has zero HCP in «. The unseen
cards of ¢ are ¢A, eKand ¢J. As he has bid 4+, heis likely holding ¢ Aand «K, or
atworst « Aand ¢J. Ifhehasonly 3 ¢s you willonly lose 1 ¢ if youplay a ¢ (Partner
hasonly 1 ¢ ) , and he has no losers in «. If he hasonly 2 #s and 3 «s, thereis no
need for you to play a ¢. In addition, if West has 3 s you need not play #J for the 2"
round of . So, East returned the 10 and then the £8, promoting West’s trump.
What a beautiful defense? Please see the 4 hands:

#1 o AK7
N/NII v72
¢+10765
«AK97
410965 a8
vQ10843 vA95
¢ J4 ¢+ Q9832
«*QJ % 10832
aQJ432
vKJ6
¢ AK
%654

TR TP IRl o, O, TESRMIVIEE 1 1 IMP.

It is a pity that a ¢ was returned and 4a was made. This card is worth 11 IMP.
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If counting points only

(1)2011/12/10  f#%%5E World Mind Games. (1Lt Beijing)
B2 45 2 iy Team Match, Round 2
R %25 China versus USA

#28 aKJ
W/NS v9873

¢+ Q52

«AQ32
410843 4aQ962
vK6 vQJ10
¢+J983 ¢A764
% K84 %76

aA75

vA542

¢+ K10

«*J1095

5 5et B AR B AL IR Y L The World Champion players sat North and South. The
bidding:

W N E S
Pass | Pass|Pass| 1+¢
Pass| 1% |Pass | Pass
Pass

HA R AL RS R TR, BB — KB e , B 455, (RRIERMM 1 ), 11 & (16
UL ED, INT (14-16), #HAFFE, %A Pass .

WIRTRIER, IR XA 2 fmd Ry, AR Gy, MA R, —eZmm.,

(P AR VAR, Pass M@MFEIfFERZ 12 4r, WiTH2 24 47, AfJR - FH L, 24
SRR BN 2 FIERESAEIAL? AR AWA, WRIRIT 2 » HEEE 7
SRS — e AR &I A PELES, SRS AR T .

Due to the limitation of the bidding system of North and South, when the player in the
1%t or 2" seat opens 1+, it has to have 4 cards (else, he should open 14 ), opening of
14 (16+ points), 1NT (14 —16 points) . As all conditions were not fulfilled, North
passed. If it was so, South should raise in the 2" round. He cannot just count points.
With matching, he must raise. (South may just count hcp only. Partner is a passed

17



hand and has at most 12 hcp. The joint hep is 24 and so there should be no game.
In reality, 24 hcp is sufficient to make a game). Then, what is the weakness of raising
to2«? | consider none. If you play 2¥ and can only win 7 tricks, then the
opponents should have a partial contract. This board shows the weakness of
passing.

FERIE AN S, an R AR VU7 IR A%, Fedb R s, A2 AT 9 MG !

Nothing is absolute in bridge. If the cards of East and West are interchanged and the
cards of North and South remain the same, North and South can only make 9 tricks!
gy E e, THAREE] 10 3, 10IMP (A

4v was reached at the other table. Both tables got 10 tricks, The net difference was 10
IMP.

(2) [F]—¥; Same round

#24 4 Q106
W/NII vK6

¢+ AKQ96

«QJd7
aKJ983 a542
v73 vA1098
¢J432 ¢+ 10875
%102 %98

aA7

vQJ542

‘_

«AK6543

H: 5 7t B A (B35 T AL B AL I IY R The World Champion Chinese players sat North
and South. The bidding:

W N E S
Pass 1% Pass 2%
Pass 2NT | Pass 3v
Pass 3NT | Pass 4e
Pass 5&% | Pass Pass
Pass

ERIESEM I A O 20 ATHEEALNE? DIAIRID & ZKEF, BRI, 2521
FEnY 3wy, PRAEMIM, —Ea2 65 BUEEMMA, ERRSCFre, FMFEA TS
e, (ERREEIERE) , .

What was wrong if North bid his suit 2 ¢ first? As your ¢ suit was too good, you had to
show it. When Partner bid 3v, you knew the distribution of his cards should be 65 or

18



better, you then showed your support of «. Partner could then have the chance to
cuebid &, (this was what you wanted to hear). For example:

W N E S
Pass | 1« Pass 2%
Pass | 2e Pass 2v
Pass | 2NT | Pass 3v
Pass | 4« Pass 44
Pass | 4NT | Pass ?
Pass

MRS EWE .  Then you could reach slam easily.
FBFIME:  The bidding of the USA players was:

W N E S
Pass 1e | Pass 2%
Pass 2¢ | Pass 2v
Pass 3% | Pass 3v
Pass 4% | Pass 44
Pass | 4NT | Pass 6%
Pass Pass | Pass

TIMP (. [FIIRBIER CREERTD o nu 3800 5 -
The net difference was 11 IMP. France (versus UK) also reached slam for the same
board:

W N E S
2¢ 2NT Pass | 3e¢
Pass 3v Pass | 6%
Pass Pass | Pass

(3) [F—3 ™, ¥ The same round. You are South, holding:

#22

E/EW
a76
vA109753
¢+ A53
wd2

2 ¢ 218 (Weak2v {24 ), {REREUTEING? BT, i Pass .
After 2¢ (Weak 2% or 24 ), what action will you take? In practice South passed.

19



W N E S

2¢ ?
3v Pass | 34 Pass

Pass Pass

A, i Pass , HiEM&4 T &,  South at the other table also passed but he
was given a chance to bid again.

W N E S

2¢ Pass
2NT | Pass 3v DBL
3a 4e Pass | 4w

Pass | Pass | Pass

PP
The 4 hands were:

#22 a4
E/EW vJ62
¢+ KQ987
«A1074
a AK10 4QJ98532
vK84 v Q
¢ J4?2 ¢ 106
«Q986 K53
a76
vA109753
¢+ A53
*dJ2

AR 4 w1 3. WS, @ARFIAR ), A, HA7 2 fE A, 6 Ry,
Gl A fEATAY, P E RSN R e A RN, PR . URANE S HE R Y
J:
The result was that both 4¥ and 3a could be made. [f you just count points, you do not
even have the average strength and so should not bid. However, you have 2 Aces and
6-carder v, |think it is worthwhile to bid. The risk is small. If you do not bid, then you
will have no more chance. Would you not see the bidding of the World Champion
French team?

W N E S
24 3v

44 S5v Pass | Pass

Dbl Pass | Pass| Pass
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U LR (R AR, 7E 3 B E#ASFNY.,
She was more proactive than what | have mentioned. She competed in bidding
beyond the 3 level.

(4) 2011/12/14 WMG(Pair)
AEH, FF You are East, holding:

#23

S/ALL
a2
vQJ
¢+QJ10762
«A932

HEFN % You heard the bidding:

1
Dbl 14 3¢ 3a
4 4a ? Pass

Pass | Pass

15 4a 218, JRINATEE?

4 M NERLERU IR, AREESLSY, #8) ERZAT 50 47 TIE ! ERAE, @Ak . 4n
REnssr, KA 1070, Bk 3e , CELMAL, Pass W57 (HARF A, FFENY 44
AR S ERE e, BB & JERZET, WORHSR, ARFHIM, 4 e,
REVROUE GRIRI, = & M v E#EGZAE 1 imiEhl, KA o, R K2A
1Ti e RASAYATEE? JLBUE T Cronier T4 6¢ o G5 DU

After RHO’s 4a, what would you bid?

All 4 players have bid. When you count points, the total should be at least 50! This
is of course impossible, the reason must be shape. If you just count points, East has
only 10 points. He has already described his points fully by jumping to 3¢. Should you
pass? Has you thought about Partner’'s hand by his bid 4%?  First: there must be
matching of ¢; second: he must be void in %, if he has a singleton, he should not
cuebid and should bid 4 ¢ instead and let you to decide the direction; third: he should
have 1% round controls in both & and v. It is because you cannot possibly make the
contract as Declarer if you have the Kings only. So, how would you bid? The French
player Cronier bid 6¢ . Please see the 4 hands:
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#23 410976
S/ALL vK109

‘_

*«KJ8754
aA543 a2
vA852 vQJ
¢+A9853 ¢+QJ10762
- «A932

AaKQJS8

v7643

¢ K4

«Q106

BT 22 35, v e , 2 P&y, WITIARRLE, Sty Wi, mAHRE e
I

(I T7Er Pass , PUBHAY 1o 12, HBkNY 3e , HEANYRL, wf e A 1 H ¥y
M. ]

TRt 60 MG IESE. (BCE IR A REIESD . WIR SRS, feniy EIS?

East and West have 22 points jointly. If either finesse of v or ¢ is successful, you
can make the slam. She played very well. She finessed w first. If it was successful,
then she needed not finesse .

[ A player who sat South passed, West opened 1+, East jump-raised to 3¢ and all
passed. This shows that East bid based on hcp only.]
How beautiful Is6¢? (Perhaps, you consider there is a bit of luck.). If you just count
points, can you bid slam?

(5) WMG (Pair)
fr &5 You are South, holding:

#18

E/NS
a AK84
vK1098
¢+ KJ109
% 6

it
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W N E S
1e Pass
1w Pass | 14 Pass
Pass | INT | Pass ?
Pass | Pass | Pass

P v FR A 5 7 1e 5 Pass , SRUIEIOMAER Y, WAk T A B I INT,
BT 10 86, T HATRE 020, IRIATAE D #THIE, (R AL INT 7Ea
AR AR D, FREI 2NT S8 3NT, fH 3 5at i i i 1] 2N,

West’s 1w indicated & suit.

WE 4 KW IREZIE 10 8. CHJRJTERAM 3NT).
When you see the 4 hands, you can win 10 tricks easily (it is worthwhile for the

vulnerable side to bid 3NT ) .

West passed after 1a, indicating his hand was very weak.
Partner balances with 1NT and should have at least 10 points and the one who has
strength is East. The value of our read suits has raised. Partner may not have a

stopper in & and you need not worry about «, Would you bid 2NT or 3NT. The World
Champion Netherlands’ player bid 2NT .

v53
¢+ Q3

4107532

«8754

aJ94
vJ62
875
*«AKJ9

a AK84
vK1098
¢+ KJ109
% 6

4 Q

vAQ74
¢ A642
«Q1032

(6> 12 J] 16 H7: BBO L.

R ZVE, ¥ You are West, holding:

#7

S/ALL
aKQ3
vJ82
¢+ K432
%J85

16 December 2011 on BBO:
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W N E S
Pass

Pass Pass 1e 1w
2¢ 2v 3e Pass
Pass 3v Pass Pass
Dbl Pass Pass Pass

RS RR bo w UEE,, RPEETERL 0 24 By, RS R, BRE R T, A
fHo Evamm, SRS, oK, aQF 1 {HRIH, v Me WHBRE, o2ZFER
£, A 9RMU e, RBEE MBI, FAEFIMTT, By mst A ResE 2 ok, 5T 4
AR A LU .

The actual bidding was as above. If you count points, East and West have 24 points.
Would you double?  The risk is too high. The opponents will at most go down 1 and it
is not worthwhile. If you count the number of winning tricks of West, aK and 4Q
account for 1 winning trick. There are no winning tricks in ¥ and «. ¢ is Partner’s
suit. You have 9+ s together and you can count half a winning trick. Partner opened
bid and estimated to have 2.5 winning tricks on defense. There are 4 winning tricks in
total. This is insufficient to double for penalty.

#7 aA10986
S/ALL vK75
¢ 6
«Q763
aKQ3 aJ754
vJ82 v64
¢ K432 +AQ1095
%*J85 « AK
a2
vAQ1093
¢ J87
«10942

TATZAER A, WHWES ST, BRI —0GEN], (v Z2ERD, FUS s,
VAT EE, AT, mIRATE, FeEn 4e, dLHEIES.

Our senior teammates usually double opponents based on hcp.  This board proves
again that it is not reliable to bid purely based on points (3w is cold) . If | sit West, |
would bid 4¢, which can generate a positive score at least.
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T H L
Agressive Bidding

MRRELRE A, FURRE IR AR, (HEAGEE, A NGRS, A AR AL,
IR NEHEC & (R MUSE, S5 R Fantoni F1 Nunes {46
2012/2/19 Slava Cup k#

One has to be aggressive in bidding. It is related to the strength of the cards in your
hand. Some people would purely evaluate the strength based on the high card points.
When there is a match, very few people would upgrade their hand. Let us first watch
2 boards played by Fantoni and Nunes in the Final Competition of Slava Cup held on
19 February 2012.

#1 aAQ32

N/NIL v K
¢J52
«AK1063

& 109
v9874
¢ AK93
%974

Prel GO AR G s, 3RalAy, R ERIES, AR AT, ERAE
A Ao TR -

When “aggressiveness” is assessed by the counting of “points”, | consider that if you
have sufficient number of winning tricks, even if you cannot make the contract, being a
bit aggressive is not bad. The bidding of this board is as follows:

W N E S
1% 1w DBL
2v 2NT Pass 3e
Pass 3NT Pass | Pass
Pass

JbfE e FARAW A 1R, AHI 2NT, & 3NT.
North has no v stopper, but he still bid 2NT and even 3NT.
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Ak Fantoni, FIZ2& Nunes, R 55kv, Hole Q #HEE 1 %S, FHbe A,

e 5 HAE, BIfEERAMMEZ;

(1) & Q, «J #AEVE, BRAHIRS KM, UL 1 XHre Q, « J H5E, 25 3 B
THe9, is5, FRIEUNE? HE5 Fantoni e A, Hils 2.
JHER e A RAERE 1 5Re KM, BRI IGREANHE

(2) WZHEAS 4 e, BMEREE VI Ze Q, ¢ 10 H5R, SHHHe Q, 10 —5E

(2 SRWAT, 4 BAIT). WREELE? Fantoni ¢ 2, Eifite 78, BT

e 9, BINT . RIMMATIE, BHMbzkE, KEHET. 2 K, K48e , He#k
AR, insEfa e K, OAZME. 5554 2NT, ~1, B 10IMP.

Fantoni sat North while Nunes sat South. East had 5 vs and he first led the ¥Q which
gave Declarer a chance. In practice, West played the v A and returned the v5. East
ducked. At present, the chance to make the contract is:

(1) Both £Q and «J are with West or East has a singleton & honor, or one of them
has doubleton «Q and «J. At trick 3, Declarer played «9 from Dummy and West
followed with the 5. Would you play small? Fantoni played «A and East
followed with the 2.

Declarer played the A with the hope to drop a « honor. Now, this line of play is
hopeless.

(2) Ifyouwanttowin4 ¢s, itis necessary for West to have doubleton ¢ Q and+ 10 or
East to have ¢ Q10x (¢ Q10 can also work but ¢ Q10xx will not work) . Which
road will you choose? Fantoni played the 2, when East followed with the+ 7,
he placed the ¢9 from Dummy. It was successful. The subsequent play is too
simple for him. Win the « K and 4 ¢s, played a v to throw in East. It does not
matter who has the aK. The other table stopped at 2NT, down 1, +10 IMPs.

4 2. The cards of the 4 hands were:

#1 aAQ32
N/NIL v K

¢J52

«AK1063
aK765 aJ84
vA52 vQJ1063
¢+ 864 ¢+ Q107
%*J85 «Q2

109

v9874

¢ AK93

%974
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FEIRsg — B, W R E S w3 8w 6, BESR ANT FTAK, KRR A AHEEILT
nypg, M Z&dbSE Fantoni. H.Ef Fantoni E4k4Te , N5 ¢ i 5a ANEHEL L.

It is necessary to have some luck in bridge. If East first led the 3 or ¥6, it is not
possible to make 3NT. It is likely that no one would criticise the bidding by North
because the one sat North was Fantoni. In fact, it would have been easier for
Fantoni to bid and make 5¢ or 5« if he played ¢s in such a way,

[Ft5, %—W  Same round, another board:

#3 a82

S/EW vAK85
943
»KJ102

aKQ1064
v73
¢+AQ62
%54

Ny The bidding;

W N E S
INT
Pass 2% Pass 24
Pass 2NT Pass 3a
Pass 3NT AP

BT 22 HCP, BEFTH NT M52 Jg ZAR MK AER 2RI K k. FARHIE, AL D
FCAT A, IRAETR BTG ?

HolvQ, WTvA, a2, a3, EREEN G REFHRENS E3-3 #iE4
-2 pId, SER O et BCATAIRE) 2 R DU

North and South hold 22 HCPs jointly, can 3NT be made? It depends on whether
Declarer can find the way home. What | mean is that the distribution for certain suits
is favorable. Can you find it?

First lead the ¥Q, Dummy win the vA. Play the 42, East thea 3, this is a key card.
You have to guess whether the as of East and West are 3 — 3 or 4 — 2. If you guess
right (and the distribution of the other suits is favorable), you can make the contract.

FAM5EFE 4 F . Let us see the 4 hands first:
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#3 a82
S/EW vAKS85

943

«KJ102
497 aAJ53
vQJ96 vi1042
+J108 ¢+ K75
«Q976 %*A83

aKQ1064

v73

¢+AQ62

%54

82 3t e 10, AUKh T, B 3 il e Re J, RAEENAT, Ak, SERRAEE,
T e, BEORCBIRE (FRBERAE 4 e ), 505 8 e, A0 bAnEits A,
[Fle me , JESHEGE 18, ZRRARET, /R w28y , 18s , 186, (22
e, 1e, 13w FE22Ha , 28, 3e, 2.

GRS 3 it e, AT CORRE 1 48 GORAN L1 — k.

F2ihia K, 25 4 L e K RRATITs 2 3-3 001 ik, Wia 242
oy, Al e, o« PECEAA], HSMEIREAY

Nunes HIHTVAMLEIERL 25 2 e K, 25 3 e JILH], 28 4 5la , K LEAA [Hv10,
R AR, #FE R e, IRAFeA0eQ IKIET, Had-2 00, IRAGEHE 4
%, HAT 8. ( 73ATHE2NT, #a 5IMP)

If the 410 was played at trick 2, you have achieved half success. If you play a « to
the «dJ at trick 3, it does not matter whether East ducks or not. Let talk about ducking
first. Play a & from Dummy, East has to duck (else Declarer will have 4 tricks of &) .
Play another & at trick 5, East wins but he cannot cash his aA. If he returnsa v or
¢, Declarer will duck one round. Later, East can not gain entry again. You lose 2
vs, 1aand1e, (or2as, 1eand1e) . Youwin2as, 2vs, 3esand?2 &s.
If East wins the & at trick 3 and returns a red suit, you duck 1 round and the result
would be the same as above.

If the aK is played at trick 2, when you play a & at trick 4, you have to assume that the
asare 3—3. Ifthe asare 4 -2, even if the distribution of ¢ s and «s is favourable,
you still cannot make the contract.

The play by Nunes was as above. He played the aK at trick 2, won with the «J at
trick 3. When he played a & at trick 4, East won with the aA and returned the v 1 0.
He could only duck. Then East returned a ¢. He could only had the ¢ A and ¢ Q
to enter his hand twice. Asthe asare 4-2, he could not cater for 4 and « also and
he won only 8 tricks in total (2NT was made at the other table, -5 IMPs).

AT Open League 47 /#. (2012/2/18)
Let us see our play in the Open League (18 February 2012):
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#6
E/EW
a K653 aJ4
vKJ53 vi1062
+853 ¢ AK7
K8 «A10942
% The bidding:
W N E S
1a 1e

Dbl 2¢ 2NT Pass

3NT Dbl Pass Pass

Pass

AT, WA (b Ge BRI 3 M, —AREED, M ATRTAE 2NT,
B rgbar R, ARG IR e B 2 1b5% W 2 sk K e ig, i,
CRURAIRE, AR RS ST A, BERRIB It e S 2 T« K, [RIFEG e |
RHE . HESRIETCRREE AT 22 78, A & Bdd, O BiES, O REBAEAM. B
13IMP (75 5 2NT+1)

COnZEst8h, RIEEA—FL: o AK8EIAZ 7 B, RESA—45 424, « KR
RERM, 1 B RIURIEEE %D

| sat West. If South did not bid (he had only 3 useful HCPs in #s but he also bid),
we might possibly stop at 2NT. Both North and South had bid, | believed that Partner
had two stoppers in ¢s. | had both Major Kings behind South and | upgraded my
hand. (During the bidding, you cannot estimate whether South has A or not. It is not
surprising for North to double) . The most important thing is that | have the «K —an
honor in Partner’s bid suit. Even we only had 22 HCPs jointly, due to matching of &s

(and luck) , | consider it is worthwhile to bid 3NT. We won 13 IMPs (the result was
2NT+ 1 at the other table).

(If you just count points, my calculation is different: ¢ AK 8 is not just 7 points, the
long suit «A is worth 4.5 and not 4 points, K in Partner’s suit —add 1 point, according
to the ability to win tricks) .

#6 aAQ102
E/EW vA9874

¢92

«*QJ
a K653 aJ4
vKJ53 vi1062
¢+853 ¢ AK7
K8 «A10942

4987

vQ

¢+ QJ1064

%7653
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H—# ]  Another board:

#18 aJ1086

E/NS vJ87
+Q86
«AK10

4943
vAQ9

e KJ1042
*J6

Ny The bidding:

W N E S
Pass 1e
Pass 14 Pass INT
Pass 3NT Pass Pass
Pass

WLl o Q Bkl Q B Q. FIBIREZ 5y, B 2NT, B/ FE Ee Q, 1K
B K3 4 A R, BT BNT M.
s, RN, Eule, WAIER, 3NT HdTm T .

If North’s ¢ Q is changed to vQ or 4Q, with the same HCPs, | agree to bid 2NT. Now,
you can treat the «Q in Partner’s suit to be worth 3 or even 4 points. | agree to bid
3NT.

Please watch. The first lead of a v with West’s hand is normal and 3NT can be made.

#18 4J1086
E/NS vJ87

+Q86

«AK10
aA52 aKQ7
vK654 v1032
953 ¢ A7
«Q74 %*98532

4943

vAQ9

e KJ1042

*J6

HAR, e KAER, SNT S plcsping . M, 7RI (B E2)s, 2 (SR
Mo CHE BRI AT — BEIES0, IRMBRRE, QW AFIES T BRI, T8 mieTIE
SRR o

TR IY IR 2SR 22— M A PRI C 5o IRAHFEE 2] B 1wl 18 [FRFE, 2
1 5 osCfy, B 5332 Y, LA (1), tBkR] 4 B, B i e REERIEEOE
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—— B DA T E R A,
SySLfEE oNT, 48] 0 B, ISy, — S5, 5 10IMP..

Of course, if the vK is with East, 3NT will become cold. What | mean is that if your
“points” are in the right place, you have to view it in a new light. (You need to have luck
also). When you bid, you do not know how the cards of your opponents lie, so there is
an element of luck.

One of the requirements for aggressive bidding is matching with your partner’s cards.
You can often see that after one has opened 1% or 14, his/her partner would jump to
the 4 level with 5 cards in support, even if the shape is 5332 or even without points.
The reason is due to the Law of Total Trumps — even though it has been proved that the
law is not reliable at high level.

The other table stopped at 2NT and also made 9 tricks. Perhaps, the first lead was
also a v. With a bit of luck, we won 10 IMPs.
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Senior Bowl

441y Senior Bowl i Edmond Tse, Derek Zen, Peter Chun, Roger Ling #H 51 A 2%
TGt - e e R TR -

The Senior Bowl 2012 was won by the popular team consisting of Edmond Tse, Derek
Zen, Peter Chun and Roger Ling - just as | have predicted before the match.

WERA S > BEa SRS - oL

Due to insufficient information, | shall just talk a few examples for my own team:

[A) 55 8w ¥R Round 8, a board with the Champion Team:

(1) FAMPetER 17 1 132 35 2 H & (Z2R) %% - We won the Champion Team 17:13.
It can be regarded as a “consolidation” prize to our team.
f:&Vs > £F You are West, holding:

#9
N/EW
a754
vQ93
¢+ 1085
«*Q932

PERRHINYRE  Listen to the following bidding:

W N E S
1e Pass 3NT
Pass Pass Pass

TR Wk - BrE R - fRgle 2 HaA flEle 10 «J 0 FRYSQ - BT
55 3 B IR - IREEIM

What would you first lead? Assume that you lead the %2 as in the real match > East
wins with the «A and returns the %10 - followed by the «J and then your «Q. The key
is the 3" trick. Which card would you play? You have seen the following cards:

#9 aAJ92
N/EW vA?2
¢+ Q942
%865
4754
vQ93
¢+ 1085
«Q932
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friis > HTRETRIEPEY S Q- Hiv > HIREAEZRA v Ko e HO 1 IRAMANZAS » i
bt « o (RN 7 EERIE & > WUk - 4 HEER

If you play a & > you may finesse the & Q of Partner. If you play a v - Declarer might
have the v KJ. If you play a ¢ ° you have not got any honor card. Do you consider
that safest card to be a «? > In reality, West returned a &« and the contract was made.
The 4 hands are as follows:

#9 aAJ92
N/EW vA2

¢+ Q942

%865
a754 41063
vQ93 vJ10865
¢+ 1085 ¢+ AK
«Q932 «A107

aKQS8

vK74

¢J763

«*»KJ4

SERIR - PAArE » BARAD iE Rl SNT o My Bl » AEGT TS T o Zhiuv
| rarely bid 3NT directly. Whether the contract can be
made depends on whether the defence can play a v first before | play a .

For this board, | sat South.

{ES 5 MIEGHT > E5le > REEs 11IMP.

The same contract was reached at the other table.
luckily won 11 IMPs.

(2)
#13 s 107
N/AII vAKQJ4
¢+ KQ103
%dJ3
aAKJ84 Q963
v85 v -
¢+J9874 * 2
®9 «AKQ107642
a52
v1097632
¢ A65
% 85

33
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SEARITFIRE - — 52l The cards are so good.  The bidding of the two tables are:

w N E S W N E S
1w DBL | 4w 1w 2% 4v
44 S5v 54 Pass Dbl Pass 5& Pass
Pass | Pass Pass Pass

KIS » IEAZWE  BRARI 24 @HMEN - SEFRIER AR » KATTE -
Though there is a great opportunity, no one tried a slam. My teammate who sat East
bid 24 > which was too low to indicate his good hand. It is a pity.

(B)FF—HlwE - i AZ]- Another slam hand but no one could bid it.

#11 4Q8
S/NIL vAK43
¢ 1098732
® 3
aA97 aKJ1042
vQJ82 v5
.- ¢+ Q514
«AQJ1096 w« K742
4653
vi10976
¢ AKJ6
% 85

FoasL - HPEAE 46+ S5t BIGEINTEE - AT 5o MERIIS - 10 SIMP -
RN HE R - AR -

At my table, East and West stopped at 4a. At the other table, our teammates were too
prudent and they allowed the opponents to play 5¢. Thought the contract was doubled,
we still lost 5 IMPs -

We have not taken the opportunities to bid a good contract for the above two boards.

[B1 5 6 dih ni s T4
Round 6. We ended in a draw with the 1% runner-up.
AT HERERY 1 = © Below is a board for which we defended accurately:

(1)
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#8 aAQ9642
W/Nil vAKG63
+Q
%106
4J10873 A -
vJ854 v72
¢+ 1064 ¢ KJB852
®J «AK9542
a K5
vQ109
¢A973
«Q873

Y. The bidding:

W N E S
Pass 14 2NT Pass
3e 3v 4 Dbl

4e Pass | Pass Dbl
Pass | Pass | Pass

HAem A 11 50 RIAEATBAN RS, Rl BARS 2NT At de&n ity LS 1 ik Pass
TRARIR S A 42l H3 46T 5, (Play BT —2K%), B 12IMP. 7 Gl
1R TG ARt 55E R 1 &l

| sat South and had 11 points. Partner had an opening strength. As | did not believe
that 2NT to be the final contract, | passed in the 1% round. | think biggest mistake was
East’s bid of 4% which led to 4 e, down 5 (the Play was also not quite proper) . We won
12 IMPs. We won 1 board out of 7 boards. Could we win? No, please see the
following board:

(2) Board 10

#10 aJ654
E/ALL v Q10

¢+ A1032

«Q93
aK9873 aAQ2
v3 v852
¢ K965 +QJ
«J52 «A10876

& 10

vAKJ9764

¢ 874

K4
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SERIPAE S — S oH: - §1 4v o iU - FARRERS A rnu - N R G
ERRAT - U 9 B - CGRESRMUA 10 B4 )

South was the declarer of 4v at the other table and he made the contract. |think East
and West have not read South’s cards correctly because South should have won 9
tricks only (he could only win 10 tricks if East and West read the cards wrongly ) .

FE sl ¢ The bidding at my table was:

W N E S

1% 1K
14 Pass 24 Pass
Pass | Pass

o AL 1 Eataznyd S, (R A I, FHEEN LA ) Bl AbAE P i A
A PTATED. (RAFEEPELIER A K9 7MY Pass , AEf[RHEIE AR, K12
R A w2, BAATICEM . —AaXIR 12 IMP.

Perhaps | should have bid 3v in the 1*' round (Partner has not bid but pre-emptive bid
might not be the best) , or North should take some action in the balancing seat. (| don’t
agree to pass when Partner hold an Ace and 9 HCPs in the pass-out-seat. If you bid
like this, you will always lose and never win) . All in all, we have not grasped the
opportunity and we also gave back 12 IMPs.

[C] TFEXEERM  Bidding which should be improved.
(1) #2856 4 Versus the number 6 team
Board 4
frRiedl, 51 5K Pass ZIR, MRS ? BANY 1o, W RLESZ, [AIFEME 1s, FRAYAFES?

You are North. The 1% seat passed to you. Would you bid? You opened 14 which was
acceptable. Partner responded 14, what would you bid?

#4 a9

W /ALl vA842
¢J1065
«AQ95

R, SRR, IR IR, MU (1444) SR RIS
IGRRNYRE: 20 A 558), INT CREVIRAL, &% F 258), 2+ (KL 54, 5
4441 AL, 24 G 3 SRaHZTT ).

BE B R ) SCBR A R (g e T 240 ETHRIL R

36



First of all, we have to note that Partner was the captain of this board. You have to
inform Partner your strength (minimum opening) and shape (1444 ) : 2¢ (no 5 cards ) -
1NT (not a balanced hand and you don’t have 2 as): 2& (minors 54 or shape
4441) > 2a (you don’t have 3 as) . The only suitable bid to describe your hand and
shape is only 2«. The bidding in reality was:

W N E S
Pass 1e Pass 14
Pass | 1INT Pass 2%
Pass 2v Pass 4ANT
Pass S5v Pass ?

4 KW The 4 hands are as follows:

#4 a9
W /ALl vA842

¢J1065

«AQ95
a764 4532
vKQ®6 v10975
¢A9743 ¢ K82
%62 %*J87

a4 AKQJ108

vJ3

¢+ Q

«*K1043

BB, BRI e ASL, 64 RITAMI. FEILRIYRE, FIa8 ALl piE 2443 R,
HRAZIESE 6 Al K.

6% is cold unlessthe¢Ais led. 6a can never be made. Based on North’s bidding, South
considered that North’s shape to be 2443 and he finally chose 64 and failed.
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Another Bridge Movie

Samuel Wan

At a regular session for the Invitational Teams, your team led by 27 imps at half-time against a
strong contingent. However, early on in the second half, partner found an ingenious bid
followed by an inferior line to go for -800 in 3NT doubled. You needed to do well to hang on to

this slender advantage.
Board 25, N/EW
You sat South, and picked up a respectable ensemble:

& K852 ¥ AJ53 ¢ Q1098 # K

The bidding went:
West North  East South
e P 1v
2% 29* P 4v
P P X All Pass

* 4 cards (since you play support doubles)

LHO led #J and dummy came down:

& A4 v Q742 ¢ AJ76 % 987

A bit light, n’est pas? Still, 4¥ reckoned to be pretty normal and the same contract should be
played at the other table. How would you tackle the hand?

st s sk sfe she sk sk st e st s sfe s she sk sk sk st sie st sfe sk sfe sk sk sk st sie st sfe s sfe sk sk sk skt sie st sfe sk sfe sk sk sk st sie st sfe sk s sk sk sk st st st s sk sk sk skoskoste st sk sk sk skoskok

There was nothing better than taking the spade in dummy (RHO followed with S9, UDCA

signals) and hooking trumps.

Was there any merit for playing a flamboyant ¥Q?

>k st sk ke sk sk sk sk sk sk ke sk sk sk sk sk sk sk sk sk skosk sk skt sk skosk sk skt s stk skoske skt s skosk skt skt s sk sk skt skt sk stk skt skt sk stk skok skokesk ko

Absolutely none.
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Even if you were able to pin a singleton 8, 9 or 10, you could not benefit from the play because

you did not have ¥6 in your hand. You should play a small heart from dummy.

The ¥J held, predictably, and LHO’s discard of a small club was not exactly shocking news,
given the double.

For the next move, there were two options:

(1) Play #K from hand

(2) Play ¢Q, luring a cover

What would be your choice?

>k st sk ke sk sk sk sk sk sk s sk sk skoste sk sk sk sk skt skt s sk sk skt skt s sk sk skt skt sk sk sk sk skt sk skosk sk skt sk stk skoske skt sk sk sk skokosk ko sk

You needed entries in dummy to ruff clubs in hand. It would be far better to play on clubs in

order to maintain communications, as a general principle.

Lefty won, and exited with #Q, half-expecting you to ruff it. RHO followed to these two tricks
with # 4 and 5, in that order. Opponents’ carding was UDCA, remember? Should you take it

seriously?

>k st sk ke sk sk sk sk sk s ke sk sk sk skosk sk sk sk sk skosk sk skt sk skosk sk skt s skosk sk skt s skeosk sk skt s sk sk skt skt sk stk skt skt sk stk skok skokosk koo

Not at all. LHO’s cards did not matter at this juncture and RHO could do anything he liked —

he did not have to be honest with you.

After this exchange, you advanced the ¢Q, LHO cooperated by covering and dummy took the
*A.

Now what?

>k st sk ke sk sk sk sk sk s ke sk sk sk sk sk sk skt sk skosk sk skt sk skosk sk skt sk skosk sk skt s skosk skt skt s sk sk skt skt sk skeosk skt skt sk skokoskok skokosk ko

You should pause and take stock — you had two heart tricks in hand, two spade tricks, very
likely three diamond tricks, and one club ruff brought it to eight. You needed two more. Where

would these two tricks come from?

One trick could come from either a spade ruff in dummy or a club ruff in hand and the other —

scoring the ¥Q via an endplay on East.

Did that mean you had to guess his distribution?
sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk s sk sk sk sk sk sk sk sk sk sk sk sieoske sk st sk s sk sk sk st sk s sk sk sk sk sk sk sk sk st sk sk sk sk sk sk sk sk sk sk skoskeoskeske sk sk steokoskeskeskoskokok
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Not really.

Let’s see. East started with 5 hearts, 3 diamonds and therefore 3-2 in the black suits.

The correct sequence at this point would be — cash the 4K (RHO dropping the queen), then two

round of diamonds ending in dummy (very critical). Now play the third club.

- If RHO followed, you ruff, cash the YA and play the fourth diamond.

- If RHO ruffed, you over-ruff, then trump a spade in dummy (this should be fool-proof)
and exit with a diamond. Voila.

Do you now see the necessity of playing on clubs before diamonds?

>k st sk ke sk sk sk sk sk s ke sk sk sk skoske sk sk sk sk sk sk sk skt sk skosk sk skt s skosk sk skt s skosk skt skt sk sk sk skt skt sk stk skt skt sk stk skok skokesk ko

I hope you do.

If you played diamonds before tackling clubs, LHO could spoil your plan by exiting with a
diamond after scoring the #A, thereby depriving you of a club ruff, and you would be one

entry short.

East’s hand was

& Q9 ¥ K10986 ¢ 532 # 1054

Were you able to make your opponents pay?

st s s sfe she sk sk st e st sfe s s she sk sk sk st sie st sfe sk sfe sk sk sk st sie st sfe s sfe sk sk sk skt st st sfe sk sfe sk sk skt sie st sfe sk s sk sk sk st st sfe s sk sk sk koot st sk sk skoskosk

By the way, at the other table, opponents played in 3%, just making — so much for the

prediction about identical contracts.

As a matter of fact, only one declarer out of some 10 tables that evening made 4% doubled.
Everybody else made nine tricks in either: 3%, 4% or 4¥ doubled. If the successful declarer

followed the recommended line in this article, please step forward and be saluted!

st s sk sfe she sk sk sk e st sfe s s sfe sk sk skt sie st sfe sk sfe sk sk sk st sie st s sk sfe sk sk sk sk st st st sfe sk sfe sk sk skt sie st sl sk s sk sk sk st st st s s sk sk skoskosteoste sk sk sk skoskok

<<<<End>>>>
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Schedule Apr - May 2012

6 [Fri Good Friday Others

ueVacant Others

. Mariner
ue Paul Jones Pairs (5-6) Cho
Conference Room

ue Invitational Team (11) Mariner Main Hall Kelvin Yim

ue Public Holiday /A -—-TBC ---

Mariner

6 SunWorld Mind Sport Trial ---TBC ---
Conference Room

Open League: Semi-Final and
12 Sat P 5 Mariner Main Hall |Arthur Lau

Consolation Swiss

Mariner

19 Sat World Mind Sport Trial -—-TBC ---
Conference Room

Mariner

22 TuePaul Jones Pairs (6-6) Cont R Cho
onirerence Koom

Mariner

27 SunWorld Mind Sport Trial --—-TBC ---
Conference Room
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